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P21 Standard -  Standard Error
P25 Q4 043 - 034
p27 Vi - Yt
p27 Ytn - Ytn
P41 () Y=AKS™ L .  Y=AKoLY™
P44 X 1 -1
P46 4 -
P49
P49 11
P
S — Nx 1y — S _ X
Ry v PX /PY Nx/v(PY )
N P
R — Xy o _ S Y
Rx /v PX /PY NX/Y(PX)
P49 6
P49 S -~ S
P51 4
P54 Q2 -
P58 Q1 2 ﬂ:(l—@)ﬂ+€&+A—A
Y N K A
AY AL AK  AA
- —=(1-0)—+0—+—
Y - L K A
P58 Q1 5 0.00247 - 0.00253
P58 Q1 6 0.00247 - 0.00253
P84 60,000 - 51,000
P134 3 $20-$10 - $20-$10
$29 $20
P138 Fixed Asset Turnover Fixed Assets » Avg. Fixed Assets
P138 coeefiocient - coefficient 2
P138 Debt to Asset(Debt to Total Capital)

P143

Total Capital



r = D—i\/+ 9o, = F = L_,_ Jp
newCS PCS (1_ f) Div newCSs PCS (l— f) Div

P149 MachineB NPV $222,326 - $222,280
P150 Q2 B $222,326 - $222,280
P151 MachineB NPV NPV
$222,326 - $222,280
P200 i
Z”:D(1+g), e —»:Zn:DO(lJrg)l,n—)
@+r)’ im (@+7)
P241 X
EVA EnterpriseValue
InvestedCapital - InvestedCapital
P252 2 3.75
P268
P +P, —2P, P +P, —2P,
2P, (A1), 2P,(Ar)?
P270 2
P +P, —2P, P +P, —2P,
2P, (Ar)% T 2P (Ar)?
P270 2
~104.702 +95.586 —2x 100
~ 2x100x (0.005)?
P275 Q4
0.001>=<95><5.26 - 0.0001><95><5.26
P281 3
1
P283 12
=r - =r
P288
3 4
P290 9
_ $95per$100 _ $95per$100
~ $82.7 per$100 T $82.71per$100
P304
rBEY=[(1+im)6-1] - rBEY=2[(1+im)6-1]
P336

f(T)=(S,e™ e - f,(T)=(S,e " )e"



P337 5 FV(CF)
FV (CF) = $3.59(1.0625)"" + -~ FV(CF)=$3.50(1.0625)%" +

P360

$39.75(1.065)0.25=$40.38 -  $39.75(1.065)"* =$40.38
P379 PV/( ) 2

1+0.5308 - 1+0.05308
P386 7-41

0.061 - 0.060
P401 3 3

12 8=20 - 12 8= 20
P406 3

CML R
CAPM

P415 7 6 2

CAPM - SLM



